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(3 Howrs) [ Total Marks : 80

N.Bo: (1) Question No. 1 s compulsory,
(23 Attemptany three from the remaining questions.
(3) Assume suttable data i necessary.
(++) Figures to the vight indicate full marks.

Loo(a)  What is Handle pruming” 5
(b) What is role of finite automata in compiler theory? a2 5
(¢) Whatare different type of attributes in SDD? Explain with examples. )

(d Bacxpatching with example. 3
2. (@) Expiain two pass macre processor with flowchart and databases, 10
(b) Explain various loop optimization techniques with example. ,\ 10

‘:n\
K

3. fa) a) Construct SLR parsing table for toilowing grammar, SNow how parsing |2

actions are done for the input string () () §. Show sm(‘k&‘ content , i/p butter,

action. (u
S ->(S)S L\“
S->¢ ,\\
(b) What are various databases uscd in two pa»\as cmbler design. Explain with 8
eaaipie. &
&
. ~ ‘.v) . .
(2) Discuss various intermediate code tor-"m in detail. 10
(b) What is Loader ? Explain fum‘tlon\ of loader with C\am')l : 10
qQ

For the given grammar be lo\\g\conslnut operator precedence relations matrix, 10
assuming*. + are binary og‘mutmq and 1d as terminal symbol and E as non

(a)

terminal symbol. (\
E—E+E = ('
E—E*E \;\

E —id R

Apply operator precedence parsing algorithm to obtain skeletal syntax tree

for the statement

idFid * id

Ao ] 0
(b) ExplajnRun time organization in detail.
N

Write hbrt notes. ;
G LEN andY ACC :
“bYy Desivn ot an Editor ;
a (c) Syntax Directed Translation ;

(d) Recursive Descent parsing
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(3 Hours)

B. :(1)Question No. 1 is compulsory
(2) Attempt any three questions out of remaining five.

. (a) Develop the SRS for an Online Shopping Portal.
A customer visits the online shopping portal. He may buy item or just visit the
page and logout. The customer can select a segment, then a category and brand oy
to get different products in the desired brand. 0 ‘\
The customer can select product for purchasing. The process can be repeated for \ g
more items. Once the customer finishes the selecting product’s, the cart can be fh®
viewed. If the customer wants to edit the final cart it can be done. For completing ‘\,P‘J

the process of purchase and payment the customer has to login the portal. If the O

customer is visiting for first time, he should do the registration process first, else;”

he can directly fogin to continue. Final cart is submitred for payment and i

delivery address is confirmed by the customer. Confirmation is given bg;"thc

customer through shipment Id and products list. Q\

SRS for this should include: L

a. Product perspective =

b. Scope and objective \

¢. Functional Requirements R

d. Non-Functional Requirements ™
AN

[10]

)2, (a)  Whatis user interface design process? Explain with ong_é\(?imple.
[10]

(b)  Explain Software Configuration item identification. \,
N

)3, (a)  What are the objectives of testing? Explain ba\gﬁbox testing and integration [10]
testing. R

(b)  Whatis Coupling and Cohesion? Explain different forms of it. - [10]

14, ()  What do you mean by requirements‘b%»(‘plain Functiona! and Non-Functional [i0]

requirements in detail. :

(b) What are the different types of n@?ﬁtenance and also explain steps for creating {10}

maintenance log? ‘ov

\\
dzgr\d prototype model for sotwware development with - [10]
- [10]

)5.  (a) Discuss Incremental mod

merits and demerits.
(b)  Explainsize oriented sO

Find function poim\sjfor anE-
No. of User input®* 50
No. of User oufpnts 20
No. of User ifiquiries 35
No. of Userfiles 06

No. of external interfaces 04 o
Assuq@suitable complexity adjustment factors and weighting facters.

are engineering metrics.
commerce application with the following data,

Q
) 6. \Q&e short notes on (any two) o
(a) _ Version control and change control. [101
(b) ¥’ COCOMO Modei. % L
g@” Agile Methodology. & i
cid) Risk Management.

30

0
)
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R
N.B.: (1) Question No.l is Compulsory. \‘0\
(2)  Attempt any Three questions out of remaining questions. q";)'
(3) Make suitable assumptions whenever necessary. ; Y/\f\
N fﬁ‘
1. a) Explain in short Time slot hierarchy of GSM system. 0 10
b) Explain in short Wireless Local Loop Architecture. rj’ 10
¢)  What are the general problems of satellite signals travelling from a szrtgﬂitc 10
to a receiver
d) Explain how Mobile originated call (MOC) work.? A;-ﬁ 10
¢) What are the characteristics of SIM? \SQ 10
)
a) List the entities of mobile [P and describe data transfer {fom a mobile node 10
to a fixed node and vice versa. b
I : o
b) What arc the modifications require to an exisitjg GSM network to be 10
upgraded to GPRS, Explain with the help of d\ié?g'ram.
o
a) Explain in Detail IEEE 802.11 MAC sub{a@mr. 10
b) Compare 3G and 4G. v 10
é}
.. . N .
a) Explain in detail Bluetooth ProtogGh Architecture. _ 10
P _
b) Expiain in detail how SubscripesAuthentication is done GSM. 10
D
[
) Compare HIPERLAN 2, SEUETOOTH, [EEE 802.11. )
») What are the differentiﬁpes of Handover in Satellite systems? 10
Explain in Detail.
.\

Jrite short notes onjthe following:
a) Satellite Gpbits.
b) And[o{gi\ framework.
c) Ce lar IP.
d) B?gital Certificate.
%)

\
Ro)
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Tot: 2
. - | o [ Total Marks : 80 ’
N.B.: (i) Question No.lis Compulsory. )
3 N : e <
(2) A empt any 3 quastions out of the rest )
- . ) i - <
(31 Preues o the right mdieate full marks 5
- rt\).
i &
‘ "
! _ " drantages and ladvantage od Distributed DB %
by What i che features ot DDBMSY (C'I :
v Il lriey - . laeis T - . . C : 5
- v 2 basie Timestamp Oirdoring Algorithm. __‘5/ >
v What ars the object = : O 3
= hat arc the objecuves of Distributed Query Processing? %
< b, S \\4) 5
3 'S
: > a1 What i+ horizontal ‘arti : 7 -§V
ne zontal and vertical fragmentat'.on? What_are the types of 10
IIZON ~-g g T . N ’
hU!-jJ! 1| fragmentation. Perform horizontal fragmentation for student
reladon s given below. o)
e a1t o the corr e e N
: SaNo g S the correctness cnterta for 1t RS
. : A
1 ." 1t A~ - X ) T —~ ¢ ~
, Srudent (—tudentrollno.. StudentName, CoursedNarne, CourseFees, year)
‘ by What are the various kinds oftransparencies{}?distributcd database design? 10
Explain cach with the help of an examg{@/
! \
{3 . Whatarethevari : o techn
: 3 a Vhat are the various concurrency co\;‘drol techniques? Compare Lock based 10
v Concurrency Control strategies im‘ﬁetail.
to Distributed Deadlock 10

tributed Deudloek pre rention
AN

NS
i&@ributed deadlock Detection and Recovery.

b) Ceompare Dis
Avoildance

in one schemne of L
<

\) . N . .

atabase sﬁould contain the customer's information
s customer 1s maintatining. Customer“infonnation 1S
along with his current address, PAN ID, adhar

ion should include type of account

Expla
10

T ARAT e

4 a) A banking d along with
-l F ~

the types 0% acjuc‘gmt ‘

‘(s full profilean ormation

%
-
‘; N ¥ i H 5 o at
5 Card no. incladed and accouit juformat
(Saving, fised, demat, recuring, current), date and time of access and the
&\ _
n'uns:i::-\;‘}m‘.s detatls.
¢ ~ A ) i )
¢ 1) AW the DTD rules for the above ML documents.
) 1 s OB N N
= i Lrent an Xl cchema for the above ML decument.
{ Crpers nes baazenous and heterogeizois database. Give (he architecture 10
1} ‘\\"\"v . o~ I CU AT SRR aittl = - T
ot het shpeos atong with some query provesstig 13SULS.
- \ =
£
v OV v
| B gtV .
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